Algebra 2 TEST 3.1 Review
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	Graph: show at least 3 points
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	1(a).  the vertex
	1(b).  Is the vertex a maximum or minimum?  

What is the maximum or minimum value?



	
	1(c).  the axis of symmetry (equation)


	1(d).  the roots

	
	1(e).  the 
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Factor Each:
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	9. HINT(Multi – Step)
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 Find the zeroes (roots) by factoring.
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8. Write the equation in standard form of a quadratic with the given roots.

	20.  –3 and 3
	21.  4 and –7
	22.  –2 and –6


12. Complex Number Operations
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Solve by taking the square root of both sides.  SHOW ALL WORK.
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	44.  (x – 3)2 = -49
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	10. (2x+7)(x-3)
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